Efficiency vs P,

= 0.4
o

2 0.09
>

20.08
o

0.07
0.06
0.05
0.04
0.03
0.02
0.01

e

1.0

Ratio

O

i
b
b
+
i
i

o
©
a

=
o
iN

1 10 . Gedf’

—=— DQM_CKF_TTbase

—— DQM_CKF_TT_retrainOldFiles125_v2_prelimWP2_epoch4

=0.05
[
§.045
2
0_,0.04
[S]
.035
(5]
0.03
0.025
0.02
0.015
0.08F--——— fytt-HE-ALHe HHEHTRE LE1......

o00sE-—IHHER L AL

° O:....I....I....i....i....

2 vaf LB

o L ] i i i
w1
] IO 441 444 j P SN VR
-3 -2 -1 0 1 2 3

Efficiency vs ¢

o-0.05¢
o E
Q.045 ;
(8] .




	Contents
	Page 1


